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TEST |
ACCOUNTING, AUDITING & TAXATION

Which one of the following makes the amendment in the form of omission, insertions and substitutions
in the Income Tax Act ?

(1) Finance Bill (2) Fiscal Policy (3) Parliament

(4) Finance Minister {5) Finance Act

A new business was set up on 15.11.2011 and commenced its business from 1.12.2011. The first
previous year in this case shallbe __

(1) 15.11.2011 to 31.3.2012 (2) 31.3.2012 to 1.4.2012

{3) 1.12.2011 10 3.3.2012 {4) 2011-12

(5) Other than those given as options

58(i) a (ii) is read as
{1) Section 58 Schedule (i} clause (a) sub clause (ji)
(2) Section 58 clause (i) sub clause (a) schedule (ji)
(3) Other than those given as options

(4) Section 58 sub section (i) clause (a) schedule (ii)
(5) Section 58 sub section (i) clause (a) sub clause (ii)

Gross total liability is calculated on

(1) Gross Total Income (2) Net Total Income (3) Salary

(4) Income after deduction (5) Met Taxable Income

Which one of the following are included under "Income’ ?

(1) Dividend (2) Voluntary contribution

(3) Capital gains (4) Dividend and Voluntary Contribution

(5) Dividend, Violuntary contribution and Capital gains

Residential status of an individual depends on the stay of the assessee in India during the
(1) Calendar year (2) Accounting year (3) Assessment year
{4) Previous year (5) Financial Year

Which one of the following sections of Income Tax Act explains the norms for determining the
residential status of the assessee 7

(1) Section 4 (2) Section5 (3) Other than those given as options
(4) Section 7 (5) Section 6

Un-commuted pension received by a Government employee is

(1) Taxable (2) Exempted from tax

{3) 1/3rd is exempted from tax {(4) 2/3rd is exempted from fax

(5) Other than those given as options

Partners are liable to pay tax on received from firm
(1) Salary (2) Profit {3) Income
(4) Salary and Income {5) Salary, Income and Profit

An employee is neither a goverment employee nor covered under the payment of Gratuity Act, 1972,
He has completed 16 years and 8 months of service. The number of completed years considered for
gratuity exemption shall be
(1) 16 years (2) 17 years

{3) 16 years and 8 months (4) 16 years and 6 months
(5) Other than those given as options

Which one of the following Sections of Income Tax deals with 'Deduction from Interest on Securities' ?

(1) Section 18 (2) Section 19 (3) Section 21
(4) Section 20 {5) Other than those given as options

Residential status is determined based on number of days stay in

{1) Current year (2) Assessment Year (3) Accounting year
(4) Previous year (5) Other than those given as options
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Mr. 'A’ who is entitled to salary of ¥ 12,000 p.m., took advance salary from his employer for the months
of April and May 2012 alongwith salary of March 2012 on 31.3.2012, The gross salary of Mr. A for the
assessment year 2012-13 shall be ¥

(1) 1,20,000 (2) 1,44,000 (3) 1,56,000 (4) 1,68,000 (5) 1,78,000
Unadjusted loss from house property can be carried forward and set off in subsequent years subject to
limit of years.

(1) 5 (2) 6 3) 7 (4) 8 (5) 9

Where the amount of an expenditure claimed as deduction exceeds ¥ 20,000, it should be paid by
way of

(1) crossed chegque (2) bearer cheque

(3) cash (4) account payee cheque/draft

(5) other than those given as options

M/s ABC Ltd. is an Indian Company, whose entire control and management of affairs is situated
outside India. M/s ABC Ltd. shall be
{1) Resident in India {2) Non-Resident in India
(3) Mot ordinarily resident in India {4) Foreign Company

(5) Other than those given as options

Mr. Krishnan a foreign national but a person of Indian origin visited India during previous year 2011-12
for 181 days. During 4 preceding years, he was in India for 366 days. Mr. Krishnan shall be treated

as
(1) Resident in India ' (2) Non-Resident in India
(3) Mot ordinarily resident in India {4) Foreign national

{5) Other than those given as options

Under Section 2(31) of the Income Tax Act, which one of the following is included in the term
'‘Person’' ?

{1) An Indiviudal (2) AHUF

{3) A Company (4) An individual and a HUF

(5) An Individual, a HUF and a Company

Compensation on termination of employment will be taxable under the head
(1) Income from other sources {2) Income from salary
(3) Nottaxable as it is capital receipt {4) Fully exempt

(5) Other than those given as options

Mr. 'A'is carrying on the business in the name of M/s Maya Enterprises. He maintains the accounts on
financial year basis. On 1st October 2011, he started a stationary shop. Which one of the following will
be previous year for the assessment year 2012-13 ?

(1) 1st April 2011 to 31st March 2012 {2) 1st October 2011 to 31st March 2012

{3) 1st April 2012 to 315t March 2013 (4) 1st October 2012 to 31st March 2013

(5) Other than those given as options

Mr.'A’, whao is an Indian citizen leaves India on 25th September 2011 for the purpose of employment
outside India and comes to India on 1st April 2012, He was in India for more than 365 days during the
preceding pravious years 2007-08 to 2010-11. What will be residential status of Mr. A for the
assessment year 2012-13 7

(1) Resident (2) Non-Resident

{3) Resideni and Ordinarily Resident {4) Resident but nat Ordinarily Resident

(5) Other than those given as options

Special individuals would become non-residents, if they stay in India during previous year for
(1) 182 days (2) more than 182 days (3) less than 182 days
(4) more than 180 days {5) less than 180 days

Which one of the following Sections of Income Tax Act states and explains the income chargeable to
tax under the head 'Income from House Property on the basis of Annual Value' ?

(1) Section 22 (2) Section 23 (3) Section 24

(4) Section 25 {5) Other than those given as options

R 125641 | AS A
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Compensation received on voluntary retirement is exempt under Sec.10(10C) to the maximum extent
of ¥ 000 ?
(1) 240 {2) 300 {3) 500 (4) 1000 (5} Other than those given as options

Mr. ‘A’ is owner of two houses namely 'X' at Mulund and 'Y' at Thane, which are self occupied.
However,‘apartment 'Y' was let out for two months. The computation of this property would be done
treating the property as
(1) Let out {2) Self occupied
(3) Partly let out and partly SOHP (4) Deemed let out
(5) Other than those given as options

Gratuity received by the government employee is
(1) fully taxable (2) fully exempt

(3) taxable in excess of T 2,50,000 (4) taxable in excess of T 5,00,000
(5) Otherthan those given as options

Conversion of capital asset into stock-in-trade will result into capital gain of the previous year in which -
(1) such conversion took place

(2) such converted asset is sold or otherwise transferred

{2) such converted asset was purchased

(4) such converted asset was revalued

{5) other than those given as options

A small service provider is entitled to _ percent exemption from Service Tax

(1) 25 {2) 52 {3) 66 (4) 75 {5) 100

Under which one of the following sections of Income Tax, items of income are totally exempt from tax 7

(1) 8 (2) 10 {3) 12 (4) 80 {5) Other than those given as options

Under which one of the following sections, the method of computation of capital gain is provided ?

(1) 44 (2) 45 (3) 46 (4) 47 (5) 48

An amount paid to a company to be used for scientific research shall be allowed deduction equal to
percent.

(1) 75 (2) 100 (3) 125 (4) 150 (5) Other than those given as options

Which asset is not treated as capital asset for capital gain purposes ?

(1) Motor car for business use (2) Jewellery

(3) Tenancy rights (4) Plant and machinery held in stock in trade

(5) Other than those given as options

Anew business was set up on 1,10.2011. Its first previous year will end on -

(1) 31.12.2011 (2) 31.3.2012 {3) 30.9.2012
(4) 1.4.2012 (5) Other than those given as options
Dividend received is exempted, if it is received from

(1) An Indian Company (2} Multi-national Company
{3) A Co-operative Bank {4) Any Company

{5) Other than those given as options

Mr. ‘A’ has let out his residential house for commercial purpose. Rent received from such house is
(1} Income from business (2) Income from other sources

(3} Income from Home property (4) Income from rental property

(5) Other than those given as options

Which one of the following Accounting Standard explains 'Accounting for Taxes on Income' ?
(1) AS-19 (2) As-20 (3) AS-28 (4) AS-25 (5) AS-22

R 125641 A7 A
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A hotel has 80 available rooms. Room occupancy was 80 percent during a 90 day period, during
which total costs incurred were ¥ 1,04,976/-. What was the cost per occupied room per night in the
period ? (in rupees)

(1) 12.44 (2) 15.55 (3) 19.44 (4) 21.44 (5) 24.30

The practice of appending notes regarding contingent liabilities in accounting statements is in
pursuance to

(1) Convention of consistency (2) Convention of conservation

{3) Money measurement concept (4) Convention of disclosure

(5) Other than those given as options

The difference between budgeted fixed overhead costs and applied fixed overhead costs is known as -
(1) Fixed overhead cost variance (2) Fixed overhead expenditure variance

(3) Other than those given as optiens (4) Fixed overhead efficiency variance

(5) Fixed overhead volume variance

Sales are equal to
(1) cost of goods sold + profit (2) cost of goods sold - profit

(3} cost of goods sold - gross profit (4) gross profit - cost of goods sold
{5} other than those given as options

If the activity level is reduced from B0% to 70%, the fixed cost
(1) will decrease by 10 percent (2) will increase by 10 percent
(3) willincrease by 12.5 percent {4) will decrease by 12.5 parcent
(5) other than those given as options

Increase in working capital is
{1) source of funds {2} application of funds
(3) funds from operations (4) loss from operations
(5) other than those given as options

Depreciation charged on Plant and Machinery is

{1) discretionary cost (2} committed cost (3) conversion cost

(4) future cost {5) programmed cost

Which one of the following may be considered an independent item in the preparation of the master
budget ?

(1) Direct material budget (2) Production budget

(3) Indirect labour market (4) Capital expenditure budget

(5) Other than those given as options

With reference to Cash Flow Statement, which one of the following statements is True' ?

(1) Acash flow statement can very well be equated with an income statement

(2) Acompany should keep a large balance of cash in hand so it can meet all contingencies

(3) Other than those given as options

(4) Fund flow and cash flow statement are one and the same thing

(5) Increase in provision for doubtful debts should be added back in order to find out cash from
operations

Which ane of the following method of depreciation involves a uniform change per unit of output 7
(1) Fixed instailment or Straight Line Method

(2) Diminishing Balance Method or reducing Balance Method

(3) Other than those given as options

{4) Annuity Method

(5) Production Method

Which of the following statements is True' 7

(1) Preference shares have variable dividends and volatile market values
(2) Preference shares have fixed dividends and volatile market value

(3) Other than those given as options

{4) Preference shares have variable dividends and stable market values
{5) Preference shares have fixed dividends and stable market value
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Q.48. If a company has the word limited at the end of its name, this means that
(1) The shareholders’ liability for the debts of the business is restricted
(2) There is a limit to the amounts the company can borrow
{3) The number ot shareholders has a fixed upper limit
{4) There is a limit to the number of shares that can be issued
(5) Other than those given as options

Q.49. The relationship between the budget number of working hours and the minimum working hours in a
budget period is
(1) Efficiency ratio {2) Activity ratio
(3) Calendar ratio (4) Capacity usage ratio

(5) Capacity utilization ratio

Q.50. Which of the following statements is 'True' ?
(1) Loan Capital is subscribed by shareholders of the Company
{2) The providers of loan capital are paid a dividend
(3) Loan capital is not normally repaid to the lender
(4) Loan capital is money borrowed from outsiders
(S) Other than those given as options

Q.51. Which one of the following statements is wrong ?
(1) Liquidity Ratio measures firm's ability to meet current obligations
(2) Activity Ratio reflects efficiency in utilizing assets of the firm
(3) Management is not interested in valuing every aspect of firm's performance
(4) Accounting data is taken from financial statements
(5) Other than those given as options

Q.52, A number of factors influence the sample size for a substantial test of details of an account balance. All
the other things being equal, which one of the following will lead to a larger sample size ?
(1) Greater reliance on internal contral
(2) Greater reliance on analytical pracedures
(3) Smaller expected frequency of errors
(4) Smaller measure of tolerable mis-statement
(5) Other than those given as options

Q.53 A company can meet its financial obligations as and when they fall due, if
(1) Current Ratiois2: 1
(2} Current ratio is less than 2 : 1
{3) More depends on composition of current assets rather than current ratio alone
(4) Current assets just cover current liabilities
{5) Other than those given as options

Q.54. A client erroneously recorded a large purchase twice. Which of the following internal control measures
would be most likely to detect this error in a timely and efficient manner ?
(1) Footing the purchase journal
(2) Recording vendors' monthly statements with subsidiary payable ledger accounts
{3) Tracing totals from the purchases journal to the ledger accounts
(4) Sending written quarterly confirmation to all accounts
(5) Other than those given as options
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Q.55. Which of the following audit procedures most likely would assist an auditor in identifying conditions and
events that may indicate there could be substantial doubt about an entity's ability to continue as a
going concern ?

{1) Confirmation of account receivables from principal customers
{2) Reconciliation of interast expenses and debt outstanding

(3) Confirmation of bank balance

(4) Review of compliance with the terms of debt agreement

(5) Other than those given as options

Q.56. Which one of the following will result in flow of funds ?
{1) Purchase of furniture on credit {2) Writing off goodwill
(3) Depreciation of Assets (4) Appreciation in Bullding

(5) Other than those given as options

Q.57. A Company engaged in financial activities receives interest. Such interest is

(1} Operating income (2) Short-term investmant
(3) Loss from operation {4) Mon-operational charge
(5) Other than those given as options
Q.58. Which one of the following is also called programme controller and is the most complex unit ?
(1) The input unit (2) The storage unit (3) The arithmetic and fogic unit
{4} The output unit (5) The control unit
Q.59. In which of the following, should an auditor's report refer to the lack of consistency, when there is a

change in accounting principle that is significant ?

{1) The scope paragraph

(2) The opinion paragraph

(3) An explanatory paragraph following the opinion paragraph
(4) An explanatory paragraph before the opinion paragraph
(5) Other than those given as options

Q.60. In which of the following paragraphs of an auditor's report, does an auditor communicate the nature of
engagement and the specific financial statements covered by the audit 7
(1) Scope paragraph (2) Opinion paragraph
{3) Introductory paragraph (4) Explanatory paragraph
{(5) Other than those given as options

Q.61. Which one of the following is the first step in computerized Accounting System ?

(1) Analysis and classification (2) Posting of entry
{3) Unadjusted balance display (4) Adjusting entries
(5) Other than those given as options
Q.62. A client has capitalized losses but refuses to capitalize them in the financial statements. Which of the
following reporting options does an auditor have, if the amount pervasively distort to financial
statements 7
(1) Qualified opinion {2} Unqualified opinion
{3) Disclaimer opinion {4) Adverse opinion

(5) Other than those given as options

Q.63 Which one of the following is the limitation in regard to computerized Accounting System ?
(1) Facllitates quick processing of data
(2) Large volume of accounting data processed easily
(3) Mobility of data
{(4) Making system accessible to the public makes them more open to attacks by hackers
(5) Other than those given as options

Q.64. An auditor who is unable to form an opinion on a new client's opening inventory balances may issue an
ungualified opinion on the current year's
(1} Income statement only (2) Statement of cash flows only
(3} Balance sheet only (4) Statement of shareholders' equity only

{8) (1) or (2) only
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Which one of the following unit turns out the end product i.e. the results, the report or the final
information to be obtained from the computer ?

(1) The input unit (2) The storage unit (3) The arithmetical and logic unit
{4) The output unit (5) The control unit.

An accountant was asked by a potential client to perform a compilation of its financial statements. The

accountant is not familiar with the industry in which the client operates. In this situation, which of the

following actions the accountant most likely to take ?

(1) Reauest that management engage an independent industry expert to consult with the accountant

(2) Accept the engagement and obtain an adequate level of knowledge about the industry

{3) Decline the engagement

(4) Postpone accepting the engagement until the accountant has obtained an adequate level of
knowledge about industry

(5) Other than those given as options

Who is basically responsible for prevention and detection of errors and frauds ?

(1) Cashier {2) Accountant (3) Auditar

(4) Accountant/Auditor (5) Management

Which of the following SA deals with Audit Planning ?

(1) SA810 (2) SA 330 (3) SA 620 (4) SA 230 (5) SA 300

In the test of control, the tolerable error is the -

(1) maximum rate of deviation from a prescribed control procedure that the auditor would be willing
to ignore '

(2) maximum rate of deviation from a prescribed control procedure that the auditor would be willing
to accept

(3) minimum rate of deviation from a prescribed control procedure that the auditor would be willing
to accept

{4) minimum rate of deviation from a prescribed control procedure that the auditor would be willing
o ignore

(5) other than those given as options

The accountant of the firm M/s. ABC is unable to tally the following trial balance :
No. | Account Heads | Debit Credit

) ()
1 Sales 12,500
2 | Purchases 10,000
3 Misc. Expenses 2,500

10,000 15,000

The above difference in trial balance is due to
(1) wronag placing of sales account {2) incorrect totaling

(3) wrong placing of miscellaneous expenses account (4) wrong placing of all accounts
(5) other than those given as options

In case of audit of partnership or sole proprietorship
(1) the auditor's duties are defined purely by the contract between him and the client
(2) the auditor need not be careful as in case of companies

(3) the auditor must be extensive as in case of all companies

{4) the auditor can decide his own duties

{5) other than those given as options

Consider the following documents

(a) Audit Noteboak (b) Audit Report (c) Audit Programme (d) Audit Plan
What is the correct sequence in which the documents are prepared ?
(1) ta). (b}, {c), {d) (2) (b}, (a), (c). (d) (3) (e), (a), (d), (b)

(4) (b), (c), (a), (d) (5) (d), (e). (a). (b)
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Q.82.

1

Current file and permanent file are together known as
{1) Audit plan (2) Audit Programme (3) Audit Working Papers
(4) Audit Procedures (5) Other than those given as options

The risk that, although the sample result does not suppart the auditor's assessment of control risk, the
actual compliance rate would supporl such an assessment, is known as
(1) risk of over Reliance {2) risk of under Reliance

{3) nsk of incorrect rejection (4) risk of incorrect acceptance
(5) other than those given as options

Checking the serial number of vouchers during the vouching helps the auditor to obtain evidence
that
(1) the transaction took place

(2} there are no unrecorded transactions

(3) the transaction is recorded in the books on the right date
(4] the transaction is valid

(5) other than those given as options

An auditor is verifying valuation of building which has been self constructed by the client. Which of the
following documents is least relevant for verification purposes ?

(1) Bills of contractor (2) Minutes of meeting of Board of Directors

(3) Certificate of engineer and architect (4) Loan agreement

{5) Other than those given as options

It a casual vacancy in the office of auditor arises by his resignation, it should only be filled by a
company in a
(1) Board Mesting (2) Extraordinary General Meeting
(3) General Meeting (4) Annual General Meeting

(5) Other than those given as options

Every company shall at each annual general meeting appoint an auditor who will held office
(1) from the conclusion of the meeting until the beginning of the next annual general meeting
(2) from the conclusion of the meeting until the conclusion of the next accounting year

(3) from the beginning of the accounting year until the end of the accounting year

(4) other than those given as options

(5) from the conclusion of the meeting until the conclusion of the next annual general meeting

As per Section 208 (4A) of the Companies Act, what is the minimum period (in years) for which books
of the company shall be preserved immediately preceeding the Current year ?
(1) Three (2) Five (3) Seven {(4) Eight {5) Ten

As par Saction 217 (1), of Companies Act which one of the following are excluded from the contents

of Board Report ?

{1} The state of company's affairs

(2) Profits proposed to be transferred to reserve

(3) Dividend recommended by the Board

(4) Conservation of energy, technology absorption, foreign exchange eamings and outgo

(5) Material changes & commitments not affecting the financial position for the period of Balance
Sheet.

As per Companies (Transfer of Profits to Reserves) Rules, 1975, before declaration or payment of
dividend, profits shall be compulsorily transferred to reserves. Where the rate of proposed dividend is
exceeding 20 percent, which one of the following minimum amaunt is to be transferred to reserves 7
(1) 12.5 percent of total profits (2) 12.5 percent of current profits

(3) 20 percent of total profits {4) 20 percent of current profits

{5) 10 percent of current profits

In accounting concepts, which of the following are fundamental accounting assumptions ?
(1) Going concern {2) Consistency

(3) Accrual {(4) Gone concarn

{S) Going concern, consistency & Accrual
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The Board of Directors shall appoint first auditor of a company
(1) within 30 days of the first shares issue of the company

(2) within 30 days of the payment of registration fees of the company
(3) within 30 days of commencement of business of the company
(4) within 30 days of incorporation of the company

(5) other than those given as options

As per the requirements of Section 226(3) and 226(4), a person is disqualified from being appointed as
statutory auditor, if he holds
(1) Debentures of the company {2) Equity shares of the company

{(3) Preference shares of the company (4) Security carrying voting rights of the company
(5) Other than those given as options

Under Section 233(B), what is the period (in days) within which the cost auditor shall submit its report
to CG and the company 7
(1) 30 (2) 45 (3) 120 (4) 135 (5) 180

Which one of the following is 'False’ 7

(1) If the amount of sales returns is heavy in the beginning of the year, it may indicate that fictitious
sales were booked last year

(2) Auditors should ensure that the value of goods returned is disclosed separately in the Profit and
Loss Account

(3) A statutory auditor is not mainly concerned that prevailing market price is charged uniformly to all
customers .

(4) The auditor has to comment in his report in case of sales to group concerns, whether the rates
charged to such group concerns are reasonable or not with regard to the prevailing market prices
at the relevant time,

(5) Other than those given as options

Objective of an audit of financial statements is to enable the auditor to express an opinion

(1) whether the financial statements are prepared in accordance with the system of double entry book
keeping

(2) whether the financial statements are prepared in accordance with accounting policies laid down by
the management

(3) whether the financial statements are prepared in accordance with any statutory and approved
financial reporting framework

(4) whether the financial statements are prepared in accordance with any identified financial reporting
framework

(5) other than those given as options

Tolerable error is the error in the population that the auditor would be willing to accept, and still
conclude that the result from the sample has achieved the audit objective 7
(1) minimum (2) reasonabla {3) maximum {4) significant (5) insignificant

Which one of the following staterment is "False’ 7

(1) Intest checking, the selection of sample depends upon the personal judgement of the auditor
(2) Testchecking emphasizes quantity rather than quality of checking

(3) Test checking does not reduce auditor's liability

(4) The higher the risk, the auditor is willing to accept, the greater the sample size need to be

(5) Other than those given as options

Checking the date of entry of voucher in the books mainly helps the auditor to obtain evidence
that
(1) entry was made on the same day as that of the voucher
(2) there are no missing vouchers

(3) the vouchers are filed every day

(4) the accountant was not absent on that day

(5) other than those given as options

To check whether all sales have been recorded, auditor should check
(1) salesmen's Pay roll (2) sales Bills (3) sales orders
{4) goods Received notes {5) other than those given as options
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Stock of Goods on consignment should be valued at
(1) invoice price

(2) cost or market price, whichever is lower

{3) cost or market price, whichever is higher

{4) price at which goods were sent to the caonsignee
(5) other than those given as options

A mortgage duly registered under the Transfer of Property Act is known as

(1) equitable mortgage {2) hypothecation (3) pledge

{4) assignment (5) legal Mortigage

Which one of the following new Standards on Auditing (SAs) explains 'Audit Evidence' 7
(1) 200-299 (2) 300-399 (3) 500-599
(4) 700-799 (5) Other than those given as options

Which one of the following documents s not relevant for vouching sales 7

(1) Daily cash sales summary (2) Delivery challans

{3) Credit memos (4) Sale Dept, Attendance Record

{5) Other than those given as oplions

Which one of the following is 'False’ ?

{1) The opening balance of the stock book next year should be the closing stock of the current year
as per the physical inventory -

{2) If the stocks are overvalued, the profits and assets will be overstated

(3) Depreciation is to be provided on the investments only

{4) Obtaining direct confirmation from the debtors does not mean that the debt will be recovered

(5) Other than those given as options

In regard to basic concepts for Auditing, which one of the following statement is 'False' ?
(1) Material are only quantitative in nature

{2) Thereis inverse relation between materiality and audit risk

{3) Reply is required in all cases in positive confirmation request

{4) Auditor should carefully plan and control external confirmations

{5) Other than those given as options

In preparation for an audit, which one of the following aspects is covered under Test checking' ? :
(1) Detailed checking of all aspects of transactions such as casting, posting elc.

{2) To ensure arithmetical accuracy of entries in original books

(3) To delegate the work to junior staff

{4) Judgemental or statistical advice

{5) MNone of these

With reference to preparation for an audit, which one of the following staterment is True' ?
(1) Continuous audit does not have any limitation

{2) Working papers should be kept upto four years

(3) Stratified random sampling is useful for population having similar characteristics

{4) Cluster sampling is less effective than random sampling

{5) Other than those given as options

With reference to factors affecting inherent risk, which one of the following risk is observed at the level
of financial statement ?

{1) Integrity of management (2) Quality of accounting system

{(3) Accounts prone to mis-statement {4) Complex transaction

{5) Other than those given as options
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(1) General Anti Apartheid Rules {2) General Anti Avoidance Regulations

(3) Geneva Agreement on Apartheid Rules (4) General Agriculture Agreement Regulations

{5} Geaneral Anti Avoidance Rules
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TEST Il
GENERAL AWARENESS & GENERAL ENGLISH

Which of the following cities of Rajasthan is called pink city ?

(1) Udaipur (2) Ajmer {3) Bharatpur {4) Alwar (5) Jaipur
Boundary of which of the following countries touches the boundary of Rajasthan state in India ?
(1) Pakistan {2) Bhutan (3) Nepal {4) Bangladesh (5) China
Which of the following Tiger Reserves is in Rajasthan ?

(1) Buxa Tiger Reserve (2) Kaziranga National Park (3) Sariska Tiger Resarve
(4) Corbett National Park (5) Bandipur National Park

Which of the following is NOT a district of Rajasthan 7

(1) Junagarh {2) Churu (3) Dausa (4) Kota (5) Pali

The present state of Rajasthan came into existence in the year

(1) 1955 (2) 1949 (3) 1947 (4) 1960 (5) 1958
Which of the following is grown in Rajasthan in plenty ?

{1) Sugarcane {2) Cotton {(3) Rubber (4) Apple (5) Jute
Nuclear Power Plant in Rajasthan is located in

(1) Kota (2) Jaipur (3) Alwar (4) Bundi (5) Dholpur
Which of the following places in Rajasthan is associated with Maharana Pratap ?

{1} Alwar (2) Jaipur (3) Jalore (4) Sikar (5) Chittorgarh
One of the places where Cattle Fair in Rajasthan takes place is

(1) Jaipur (2) Chittorgarh (3) Nagaur (4) Bundi (5) Dausa
Which of the following is the capital of Uttar Pradesh 7

(1) Bhopal {2) Dehradun {3) Kanpur (4) Agra {5) Lucknow
Who amang the following is the Chief Minister of Rajasthan at present ?

{1) Shivraj Patil (2) Ashok Gehlot (3) Bhawarlal Sharma
{(4) Bharat Singh (8) Other than those given as options

Which of the following is a scientific term used in Chemistry ?

(1) Fungi {2) Hemoglobin {(3) Implosion {4) Catalyst (5) Chlorophyll
Which of the following is NOT the name of a vitamin 7

(1) A (2) B {(3) C (4) N (5) D

Who among the following is the author of the book "Magic Seeds" ?

(1) Vikram Seth (2) V.5. Naipaul (3) Salman Rushdie

{4) Kiran Desai (5) Chetan Bhagat

Which of the following is a famous dance form of Rajashtan ?

{1} Ghumar (2) Kathakali (3) Garba (4) Bihu (5) Bharat Natyam
The 4th BRICS Summit was hosted by

{1} Brazil {2) Hussia (3) South Africa (4) China (5) India
What is the expansion for GAAR 7

{1) General Anti Apartheid Rules (2) General Anti Avoidance Regulations

{3) Geneva Agreement on Apartheid Rules {4) General Agricullure Agreement Regulations

{5) General Anti Avoidance Rules
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W 2012 H, Wwdla aver A e ars Ree J fvae wfvea FDI & s § 2 2

(1) 100% (2) 49% (3) 51% (4) 25% (5) 75%
fareft Frmder @ 5 BCs 1 @0 & |

(1) Business Conduits (2) Business Correspondents {(3) Banking Correspondents
(4) Banking Credits {5) Business Credits

MCX ersefal @l gof vy 2

{1} Multi Commodity Exchange. (2) Multiple Commaodity Exchange.

{3) Multiple Common Exchange. (4) Multiple Commodity Export.

(5) Model Commodity Exchange.
LIBOR = a1 qof &y &1 & ?

(1) London Inter Borrowing rate. {2) London Inter-bank offered rate.

{3) Luxemburg Inter-bank online rate, (4) Luxemburg Imter-bank offer rate,

{5) London Invastment & Borrowing rate.

ety it feas &) wfda & |
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(1) 2003 ¥ 2014 (2) 20109 2015 (3) 201192016

(4) 2012 &4 2017 (5) 2013 ¥ 2018
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From January 2012, Indian Government has allowed how much percentage of FDI in Single Brand
Retail ?

(1) 100% (2) 49% (3) 51% (4) 25% (5) 75%

In the Financial Inclusion program, the BCs are referred as

{1) Business Conduits {2) Business Correspondents {3) Banking Correspondents
(4) Banking Credits (5) Business Credits

The expansion for the exchange MCX stands for
(1) Multi Commodity Exchange. {2) Multiple Commaodity Exchange.
(3) Muitiple Common Exchange. {4) Multiple Commodity Export.

(5) Model Commodity Exchange.

The word LIBOR stands for
(1) London Inter Borrowing rate. (2) London Inter-bank offered rate.
{3) Luxemburg Inter-bank online rate. (4) Luxemburg Inter-bank offer rate.
{5) London Investment & Borrowing rate.

Mational Mathematics Day is dedicated to
(1) C.V. Raman (2) Jagadish Chandra Bose (3) Amartya Sen
{4) J.V. Narlikar {5) Srinivasa Ramanujan

Standard & Poor's (S&P) is a/an
(1) International Financing Agency {2) International Rating Agency

(3) Domestic Rating Agency | {(4) International Data Collecting Agency
(5) Domestic Data Collecting Agency

Which is the country that joined WTQO recently (in the month of August 2012) ?

(1) India (2} China (3} Greece (4) Brazil (5) Russia
Capital support for the Public Sector Banks is given by

(1) Reserve Bank of India {2) Indian Banks' Association

(3} Government of India {4) Security Exchange Board of India

{5) Bombay Stock Exchange

What is the span of the 12th Five year plan of India 7
(1) 2009102014 (2) 2010102015 (3) 2011 t0 2016 (4) 2012102017 (5) 2013to 2018

The 2012 World Economic Forum took place in

{1) Bern {2) Zurich (3) Basel (4) Davos (5) Geneva
Whao is the present Director General of WTO 7

(1) Pascal Lamy (2) Leon Brittan (3) Peter Lord

(4) Supachai Panitchpakdi (5) Romando Prodi

Dr. C. Rangarajan is
(1) President of Prime Minister's Economic Advisory Committee
{2) Chairman of Finance Minister's Finance Council

{3) President of Finance Minister's Economic Advisory Council
{(4) Chairperson of Commerce Minister's Trade Council

(5) Chairman of Prime Minister's Economic Advisory Council

Which of the following terms is used in Economics 7

(1) Bank Rate (2) Docking (3) Black Box (4) Copy right (S) Writ

Ot the European countries mentioned below, which is the lowest indebted country 7

(1) Greeca (2} Finland (3) ltaly (4) Ireland (5) Portugal
Who is affected party because of rupee depreciation against § ?

(1) Exporters (2} Foreign Travellers to India (3) Importers

(4) Banks {5} Exim Bank

Which leader launched Economic Reforms in China ?
(1) Mao Tse-tung (2) Hu Jintao (3) Jiang Zemin  (4) Deng Xiaoping  (5) Chu En-Lai
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Q.134.

Q.135.

0.136.

Q.137.

Q.138.

Q.139.

Q.140.

Q.141.

Q.142,

Q.143.

Q.144.

Q.145.

Q.146.

Q.147.

Q.148.

Q.149,

Q.150.
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Who set up Financial Stabllity & Development Council during his tenure as Finance Minister 7

(1} Dr. Manmohan Singh (2) P. Chidambaram (3) Pranab Mukherjee

(4) Yashwant Sinha (5) Jaswant Singh

Pranab Mukherjee is the President of India.

(1) 10th {(2) 11th (3) 12th (4) 13th (5) 14th
Find out the person who said, 'We need to revive the animal spirits in the country's economy’ ?
(1) Dr. Manmohan Singh (2) Dr. Raghuram G. Rajan (3) Dr. Kaushik Basu

{(4) Dr. Amartya Sen (5) Dr. C. Rangarajan

Which one of the new categories of NBFC was introduced by RBI in the month of July 2012 ?
(1) NBFC - Micro Finance (2) NBFC - Infrastructure {3) NBFC - Factors
(4) NBFC - Venture Fund {5) NBFC - Housing Finance

RBI has slashed the SLR from 24% to 23% in the month of July 2012. This has given liquidity support
to the Banks to the extent of

(1) T 75,000 crores (2) ¥ 70,000 crores (3) 65,000 crores

{(4) ¥ 60,000 crores (5) ¥ 55,000 crores

RBI has replaced the ‘no frills' account with

(1) Basic Mo frills account (2) Simple savings account {(3) Easy Savings account
{(4) Basic Savings account {5) Plain Savings account

Government has imposed how much of service tax on foreign package tours from July 2012 ?
(1) 1% (2) 2% {3) 3.09% {4) 2.38% (5) 3.18%.

One of the Regional offices of the Reserve Bank of India is located in which of the following cities of
Rajasthan ?
(1) Udaipur (2) Ajmer (3) Kota (4) Alwar (5) Jaipur

Mr. David Cameron who visited India a few months back is the Prime Minister of
(1) Australia  (2) United Kingdom (3) Brazil (4) Germany (5) South Africa

Waters of which of the following rivers is shared by India and Pakistan both ?
(1) Ganga {2) Yamuna {3) Mahanadi (4) Jhelum {5) MNarmada

General increase in prices of the commeodities is known as
(1) deflation (2) inflation (3) degradation (4) buyers' market (5) profit sharing

Which of the following is the currency of Japan 7
(1) Yen {(2) Euro (3) Dollar {4) Peso (5) Dinar

India has signed an agreement with U.S A, which will enable it to become self sufficient in power
generation. Maximum power generation according to this agreement will be done by which of the
following mode 7

(1) Hydropower (2) Thermal {3) Muclear {4) Wind Power  (5) Solar Energy

Which of the following is @ major Jute producing state ?
(1) Himachal Pradesh {2) Guijarat (3) West Bengal (4) Maharashtra (5) Uttarakhand

Which of the following is NOT an agricultural term 7

(1) Mitrogen fixing (2) NPK (3) Cryogenics (4) Rhizobium (5) Sprinkier method
Which of the following is a Non-Conventional source of energy 7

(1) Hydro power (2} Thermal power (3) Muclear power

(4) Solar power (5) All are non-conventional sources of energy

Which of the following companies is a major Telecom Service Provider' in India ?
(1) POSCO (2} Airtel (3) Ambuja (4) HPCL (5) Vedeocon
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Q.151-160. Read each sentence to find out whether there is any grammatical error in it. The error, if any, will be in
one part of the sentence. The number of that part is the answer. If there is 'No error’, the answer is (5).
(lgnore the errors of punctuation, it any)

Q.151. During the.lecture, our / teacher told us / that the earth / moved round the sun. Mo Error
(1) (2) (3} (4) (5)

Q.152. The number of customers the / bank serves has increased this year /

{1 (2)
and it is expected that it will / continue to grew in the future, Mo Error
(3) (4) (5)
Q.153, Almost two lakh trees / have being planted / in the forest / around the village. Mo Error
(1) (2) {3) (4) (5)
Q.154, The correct approach for / India will be to focussing / on individual economic well-being /
(1) (2) (3)
rather than GDP. No Error
(4) (5)
Q.155. There are an immense / scope for adoption / and promation of /
(1) 2) (3)
better agricultural practices. Mo Error
(4) , (5)
Q.156. The degree of / identification with the / mind differs on / person to person. No Error
(1) (2) (3) (4) (5)
Q.157. The summer festival / of Shimla is quite / famous and many / tourists enjoy it No Error
(1) (2) (3) {4) (5)
Q.158. Although the book / was highly recommended / by him, | did not / enjoy reading it. No Error
(1) (2) (3) (4) (5)
Q.159. Itis imperative for him / to found a job soon else / he may have to / face grave problems. Mo Error
(1) @) (3) (4) (5)
Q.160. A boys fell / into bad company / at the hostel / and were misled. No Error

(1) (@) (3) (4) (5)

Q.161-165. Rearrange the following five sentences (A), (B), (C), (D) and (E) in a proper sequence so as to form a

meaningful paragraph, and then answer the questions given below :

{A) This results in frequent spikes in food inflation.

(B) However, the agriculture sector is at a crossroad.

(C) Thus, a need for second green revolution is being experienced more than before.

(D) The sector experiences rising demand and relatively slower supply response.

(E) Today India-ranks high in the production of various commodities.

Q.161. Which of the following should be the FIRST sentence after the rearrangement ?

(1) D (2) B (3) C (4) E (5) A
Q.162. Which of the following should be the THIRD sentence after the rearrangement ?

(1) C 2) A (3) E (4) D {5 B
Q.163. Which of the following should be the LAST (FIFTH) sentence after the rearrangement ?

(1) B (2) D (3) C (4) E (5) A
Q.164. Which of the following should be the SECOND sentence after the rearrangement ?

(1) E (2 B (3) D (4) C (5) A
Q.165. Which of the following should be the FOURTH sentence after the rearrangement ?

(1) A (2) C (3) D (4) B (5) E
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Q.166-170. Pick out the most effective word from the given words to fill in the blanks to make the sentence

Q.166.

0.167.

Q.168.

Q.168.

Q.170.

meaningfully complete.

The modern man has become a to readymade amusements.

(1) victim (2) slave (3) addicted (4) accustom {5) vulnerable
The Indian of womanhood has been grossly misunderstood.

(1) visionary (2) sight (3) perception (4) knowledge (5) expectation
| did not the book because it was expensive.

{1) bought (2) purchased (3) invest (4) buy {5) brought

This is the lield where the battle of Panipat was fought.
(1) famous (2) well {3) history {4) memory (5) importance

The for money landed him in jail.
{1) desired {2) ambitious {3) lust {4) greedy (5) reguire

Q.171-180. In the following passage there are blanks, each of which has been numbered. These numbers are

Q.171.
Q.72
Q.173.
Q.174.
Q.175.
Q.17se.
Q.177.
Q.178.
Q.179.
Q.180.

printed below the passage and against each, five words are suggested, one of which fits the blank
appropriately. Find out the appropriate word in each case.

{171) the present system (172) education, too much stress is laid on teaching and too little on
active learning. The child is not encouraged to discover things on his own, thus losing intellectual
independence and all capacity to judge (173) himself. The over-taught child is the father of the newspaper
reading, advertisement believing and propaganda swallowing — in short an unthoughtful man, the man
who makes modern democracy the force it is. (174), lessons in class leave him mainly unoccupied and
therefore bored. He {175) to be coerced into learning what does not interest him, and the information
acquired mechanically and reluctantly by dint of brute repetition is rapidly forgotten. Quite naturally the
child being bored and unoccupied, is {176) mischievous. This makes a strict external discipline necessary.
The child learns to obey, (177) to control himself. He loses moral as (178) as intellectual independence.

Such are the main defects in the current system of education. Many others could be mentioned,
but they are defects in detail and can be classified under (179) or other of the three main categories of
defects - sacrifice of the individual to the system, psychologically unsound methods of teaching and
irrational methods of imposing discipline. We need a (180) system of education.

{1) For {2) Along (3) Inside (4) With (5) Under
(1) does (2) holds (3) of (4) in (5) at

(1) among (2) by {3) into (4) about (5) apart
(1) Beiore (2) Thereby (3) Although (4) Moreover (5) Ultimate
(1) tries (2) thus (3) wants (4) has (5) comes
(1) yes (2) add {3) no (4) also (5) near
(1) here {2) not (3) thare (4) what (5) why

(1) soon (2) well (3) far (4) important (5) clean
(1) one (2) more (3) several (4) some (5) many
(1) freshast- (2) new (3) realism (4) west {5) best

0Q.181-195. Read the following passage carefully and answer the questions given below it. Certain words/group of

111

words have baen printed in bold to help you locate them while answering some of the questions.

Multi-Level Marketing (MLM) has been around for over 50 years. Most people do not believe it
to be legitimate, nor do they believe it is a viable way for them to build wealth. And yel, there are few
million people worldwide who claim to participate at some level. Out of these few millions, some earn
little income and some earn a great deal.

MLM is an approach that motivates its participants to promote a certain product among their
friends. Worldwide, tens of thousands of consumers are approached daily with promises of income and
independence gained from joining MLMs. This includes not having toe punch a time clock, the time
freedom to pursue other interests without having to worry about money, and the means to be in control
of one's future. Who would not want all that ? People join an MLM program for a variety of reasons.
Most are recruited by someone, often a family member or friend. Some learn about a program over the
internet or learn about it from contacts at work.
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The products are often attractive and very unigue and offer benefits that promoters claim are
not available elsewhere. The opportunity to be self-employed from hame appeals to many who are tired
of depending on fickle employers who can lay them off at any time. They see their work as dead-end
jobs with no real long term potential, Others are unemployed and find in MLM the chance for at least
some income. Even some professionals like the option of owning a business that provides passive
income. MLM offers an inexpensive alternative to more expensive options for owning a business, MLM
is easy fo get into and appears to be a good way to be your own boss.

Some get into MLM because of a promoter's promise of virtually unlimited income, or at least
incoeme proportional to the time and effort put in. But some get into MLM in hopes of supplementing their
income, paying off debts, or financing college for their children. Others are led to believe they can eam
a little extra cash for Christmas or for family vacations by working seasonally. And of course one can't
beat the feeling of camaraderie that MLM offers. One is told that in helping himselffherself, he/she will
be helping others — often hundreds in the organization one recruits and builds,

But as they say, there are always two sides to a coin, the other aspect of MLMs deserves
maention and attention. MLM operates on a faulty principle. The fundamental idea behind multi-level
marketing is that A, who already purchased the product, is rewarded for referrals, i.e., for purchases
made by B as a result of A's promotion. The reward mechanism associated with multilevel marketing
may take various forms. In particular, A may be rewarded for both — purchases made by B and for B's
own referrals in a recursive manner. It assumes both infinite markets and virgin markets, neither of
which exists in the real world. In many cases, customers seldom enjoy the actual product being promoted
(when a product is being promoted), but are only participating in the (usually false) hope of getting
rewards from recruiting others. Thus, MLM with its endless chains of recruitment is inherently flawed,
unfalr, and deceptive. This makes MLMs extremely viral and predatory. This is advantageous for the
founders, TOPPs (Top-of-the-Pyramid Promoters), and the MLM company itself, but works to the
detriment of new recruits. MLM takes new recruils from the real world into a world of make-believe
"business opportunities” - and in the process fattens the coffers of the company, its founders, and
TOPPs.

Q.181-183. Choose the word/s which is MOST OPPOSITE in MEANING to the word printed in bold as used in the

Q.181.

Q.182.

Q.183.

Q.184.

Q.185.

Q.186.

Q.187.

passage.

INFINITE

(1) Non-existant  (2) Open (3) Limited (4) Least {5) Unexplored

PARTICIPATE

(1) Win (2) Take part (3) Abstain from (4} Disown (5) Dislike

OFTEN

(1) Little (2) Seldom {3} Usually {4) Mecessarily {5) Always
Q.184-187. Choose the word which is MOST SIMILAR in MEANING to the word printed in bold as used in the

passage.

CONTROL

(1) Supremacy  (2) Power {3) Domination (4) Discipline (5) Charge

BUILD

(1) Construct (2) Prepare (3) Earn (4} Heighten {5) Dismantle

FICKLE '

(1) Versatile {2) Low-profile {(3) Vulnerable (4) Unpredictable (5) Regular

LED

(1) Shown (2) Taken (3) Asked (4) Conducted (5) Made

Q.188.

Q.189.
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Which of the following can be the most appropriate title for the passage ?

(1) The MLM business — its truth and fallacy (2) Why MLM's fail

{3) The dreams of MLM (4) Who should stay away from MLM
(5) The rosy side of the MLM business

Which of the following has/have been mentioned as a benefit of being associated with MLM 7

(A) The feeling of camaraderie,

(B) MLM income may supplement a person's income.

(C) Getting the products offered at the lowest prices in the market,

(1) Only A (2) OnlyBandC (3) OniyC (4) OnlyAandC (5) OnlyAandB
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Q.190. Which of the following most correctly represents the tone of the passage?
(1) Satirical {2) Threatening (3} Urgent (4) Happy (5) Informative

Q.191. Why does the author use the word "predatory” for an MLM 7
(A) Itfills the pockets of the owners at the cost of the new recruits.
(B) If gives false hopes to the new racruits.
(C) It sets sales fargets which are almost impossible to achieve
(1) Only A (2) OnlyBandC (3)Only C (4) OnlyAandC (5) OnlyAandB

Q.192. Which of the following is true as per the given passage 7
(1) The MLM business is fast blooming and will continue to bloom in the next decade.
{2) Allthe people who join MLMs are immensely benefitted by deing so.
(3) MLMs take exira efforts to build togetherness and trust amongst their employees.
(4) MLMs provide special training to young recruits for selling their products.
(5) None is true

Q.193. Which of the following is the reason for people to choose MLM based employment 7
(1) They are easy 1o get into. {2) They offer steady incomes.
(3) They offer challenging work. {4) They have a transparent and professional approach.

(5) These are high profile jobs.

Q.194. Which of the following kind/s of income is/are seemingly promised by MLM ?
{A) Passive
(B) Supplemantary
(C} Seasonal
(1) OnlyC (2) OnlyBandC {(3) Only Aand B (4) AllA,Band C {5) Only A

Q.195, Which of the following represents the other aspect of the MLM business, as pointed in the phrase

"two sides to a coin" 7

(1) They seem to offer time freedom, however the work involved is too time consuming.

{2) They paint the picture of an easy job; however the work involved is difficult, specialized and tricky,

(3) They assume that their products are unigue; however, the products they offer are outdated and
no longer in demand.

{(4) The income promises of the MLM are rarely true and their set up is exploitative of the new
recruits and people at the bottom-of-the-pyramid.

(5) Their policies of referrals seems simple, however there are many finer aspects of the policy
which binds a person from suggesting referrals,

Q.196-200. Which of the phrases (1), (2), (3) and (4) given below each sentence should replace the phrase printed
in bold in the sentence to make it grammatically correct ? If the sentence is correct as it is given and
‘No correction is required’, mark (5) as the answer.

Q.196. An organisation constantly needs to develop and invent new patterns and procedures.
(1) need for develop and (2) need to develop and (3) needs to development and
{(4) needs to develop rather (5) Mo Correction required
Q.197. Whenever we accept something for being true, it enters our subconscious as a belief.
(1) to be true, it (2) as being truth, it (3) to being true, its
(4} to being true, it (5) No Caorrection required

Q.198. The entertainment were to began post dinner, but we, being early birds, left home right after the
evening high tea.

(1) wera to begun {2) were to begin (3) was to begin
(4) was to begun (5) No Carrection required
Q.199. After paying a huge amount for a lifetime membership of the library, | incidentally came to knows
that the owners were planning to discontinue the library.
{1) came to know (2) come about knowing (3) come for know
(4) comes to know (5) No Correction required
Q.200. One day a traveller was walking along a road on his journey from one village to another.
(1) along a road to his (2) ona road to his (3) along a road by his
{4) upon a road on his {5) Mo Correction required
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